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1. Classify the given Religions in appropriate columns. 

Hinduism. Islam. Christianity. Buddhism, Jainism 

Originated in India Originated in other countries 

2. "Indus Valley Civilization was urban in nature." 

(a) Indicate ·whether the statement is true. 

(b) Substantiate your views. 

3. "Traffic blocks are common scenes in the cities of Kerala." 

(a) Why is it happening'? 

(b) Analyse any three urban problems in Kerala. 

(Scores : 2) 

(Scores : I + 2 = 3) 

(Scores : 2 + 3 = 5) 

4. Choose the appropriate sociological te1111 for the following statements from the given 

list : 
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[Sanskritization. Westernization. Modernization, Industrialization] 

(a) 

(b) 

(c) 

(d) 

(e) 

(t) 

(g} 

(h} 

Imitation of way of life of upper caste by the lower caste. 

Wearing Coat and Suit. 

Use of cars. train, aeroplane instead of bullock caiis. 

Habit of having fast food. 

Use of communication facilities such as mobile phone. internet, etc. 

Emergence of multinational companies. 

Shift from non-vegetarian to vegetarian. 

Strike by the labourers of a company. (Scores : Yi x 8 = 4) 
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1. mm8<fh1m>1ro1t06>Jcm fll®Gflf5::>(f)6!ffi6>~ (lJT()ffiJ,Cim>::>m.,\ill:Jm> att»::>~6m3~1m8 rulffi.,\(T\)lcOOJ,<fh. 

nD1CT3J, fllmlo, m~oo illmlo, Ltih 1m'5®J, tiltmo, ffil6® illtmo, 6>6>mm illtmo 

2. "(T\)1ITTW6 ms1cms (T\)om'5tl'horoo mo(J)ro1.e, CTUJ!S0<1Jt2lJ,~rmow1ro6 cmJ,." 

(a) @2'!> LoJm'5tmorum uoai1m>oa6mo '? 

( cruc.e.o©cru : 1 + 2 = 3) 

3. Citthm~<mm16>e..r ffi(f)Cll6ffi3~1m8 cson.01.fu a~OcOOJ.e,uB <ru.olmo ca,o!P!l.lm>om). 

(a) o(j) om 6 6)cfh0 6TlS:) 6m1Gm36)ffi (T\) 015 ru1t06)6 cm cm '? 

(b) Cidh©~o amails&cm nfil6>tmlD>1e.JJo illJan ffi(f)© LoJuOm6m3u8 ru1(.1()<£heimo 6>.!2.l~J<>'h. 

(cruc.a.::>©cru : 2 + 3 = 5) 

4. cmon1@1.ooJon n.131ca,w1m8 mlont,o tm06>!P 6>tthOSJ<mm1m1c00Jcm LnJm'5tmorumca,CJ8.00 

(!Jl()ffi 6 am>o m .\ill om> cru illJ nD uo om'5 L tm oJB 6m3 u8 6> cm ro 6>6TOlIDS ;i c00 6 ca, : 

( CTUO OOm'5lcfh 16> 6> \'.?Ci CTUrd:1 o5, 

ru .\ ru (T\)0 (ll)(lj cm d)6)@611)o ] 

(a) ~m>dlon mocmlc00ornJ6lS m1ru1cm ro1tm1tl'hu8 ('(J)o!Pon mocm1w1e..rt,~ruc8 

mramJ<fhailc00Jcm6. 

(b) Cidh03Jo CTUl3(,o W©lcOOJcfu. 

( c) cfhO~(lJ6TIS1.00 nJd),(l)o ah Orn, 6>LSm>1oB, ru10omo CIDJS6m31m>ru m>OL®mltOO 

~nJCiCQJO(f)lcOOJOT>J. 

(d) n.00~ n.O(,cW (J()1e.Jo. 

( e) ruoc8<mmoru1m1illW<mm1moCD>1 6lill06>6>6lllm8 CinD06118, ma'A<36>mg ((J)JS6m31CD>ru 

~nJCim>(>(f)lcOOJcm 6· 

(t) 6runi>J(!)Oln9J cfhffiJITT1<fh~J,6>5 ~ruldl!SO(lJo. 

(g) (T\)CiCTU.,\tm© ~nDorocmm1m8 mlcmJo crucru.,\OnDorocmmlaeimJ'.ooJ~ 0ogo. 

( cruc.e.o©cru : Yi x 8 = 4) 
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5. Fill in the blanks : 

Leaders Movements 

Raja Ram Mohan Roy Brahma Samaj 

Swami Dayananda Saraswathi ..................... 

..................... Servants of India Society 

6. A data collected from a village is given below : 

Numher of Male 

Number of Female 

Total new-born child during the year 

Number of mothers died during the year while gi\·ing birth 

Number of children died after bi1ih during the year 

From the table calculate : 

(a) Sex ratio 

(b) Bitih rate 

(c) Infant mortality rate 

(d) Maternal m01iality rate 

7. Fill in the blanks: 

I Type of Marriage I 
I 

I I I I 

---- Polygamy ·---- Sororatc 

I I I I 
Individual 

Aman 
can marries 
have 

widow 
only one ·---- of ·----
spouse 

his 
at a brother 
time 
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Year of establishment 

····················· 

1875 

1905 

(Scores: 3) 

600 

400 

300 

15 

30 

(Scores : 1 + 1 + 1 + 1 = 4) 

(Scores : 1 + 1 + 1 + 1 = 4) 
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cm an::>c96l<l8 Lrucru.o:>m <> cru.o ::>rul~ ru©r111 <> 

(ll:}Si!OOOo QIZIOnl')\13 oom'5 L6TlJn012l (T\.li'.ZIOSil 0 ..................... 

<ruJol2l1 awomrn <ru©<ruJ<m1 ..................... 1875 

..................... 6)(T\.)@OJoR v m) 630n0 1905 
@CTID.,\ 6><TU06>6><TU)?1 

nJ6 m 6 C'ftl cm o rn 600 

aU'um1.a,u8 400 

~ rurnn'l:iamn1<03 s;iml~ dh6~1dh~J6>5 n(l)q:;Qo 300 

mraa cm ru©l'ftlamn1<03 LnJ cru ruamn 1ml6> s l2l m 6TT> 6> ~ ~ mra lll2l 12l o rn 15 

mmmauoril1o ~ rurnrruo 12l<1>6TT>6>~~ d3>J~1.a,u8 30 

nJ~1.a, ~ nJ am> o (/)1 aj ® o 6) \P 6) Uh o s 6<lm))1m1tf}6)6 cm ru .a, 6TT> tf}6) o .aG> 6 cfb. 

(a) e.flo(f)Offi6nJO®o 

(b) s;imm m1mdl6) 

( c) uo1UOJ 12l©6TT> m1rodl6) 

( d) !2lO<m~ 12l©6TT> m1rodl6) 

I 

----

I 
<>l<i>6 

(lJ Ji cf¥1))1cJ,,) 

@(()6 m"m 
ID:J"®ID6-

o1ls:lc&6'lTI 

al)({)() 

rulru:>~0,, 

I ru lru lw ®'<>" I oJ](lJ:),.,[}(ilffi<JS 

I 
I I 

C:n.J'.J~ ]cf)ID l ·----

I I 
lil@:J<Jil 

@~CU>:J~>ilS 

(J\l<J:~0:JB-

---- (()>))~ 
n.tlwru>ilcU! 
()J]ru:),.,[}() 

c&'91<6<>l~c& 

5 

( crucclb::>©cru : I + 1 + I + 1 = 4) 

I 
>))(rl):)~'l():)-

c:o0 
" 

I 

----

(cruc:clb:>mcru : 1+1+1+1=4) 
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8. "Caste sentiments reflected in election result." 

(a) What is your reaction to the statement'? 

(b) What are the functions of caste in politics '? (Scores : 2 + 2 = 4) 

9. Ramu comes to school from his flat at the city and he lives withparents and sister. His 

friend Raju comes from a village and he lives with parents. grandparents, cousins with 

different generations. 

(a) Identify the type of family to which Ramu and Raju belong. 

(b) Compare the features of families of Ramu and Raju. 

(c) Critically analyse the existence ofRamu's family. (Scores : I + 3 + 2 = 6) 

10. Fill in the missing pat1. 

Age Characteristics 

Paleolithic Beginning of clan communities 

········································ Use of finer and thinner tools 

Neolithic Well organized cultivation 

········································ Use of copper tools 

(Scores : 1 + 1 = 2) 

11. (a) Which among the following features are associated with early Vedic Period'? 

(i) Urban in nature 

(iii) Monotheism 

(ii) Higher status of women 

(iv) Varna System 

(b) Compare the teatures of early Vedic and later Vedic period. 

12. (a) Find the odd one out. 
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Negri to 

Proto-J\stroloid 

Parsi 

Mongoloid 

(b) Justify your answer. 

(Scores : 1 + 2 = 3) 

(Scores : 1 + 1 = 2) 
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8. "6>a»<l>6>6J!m»56iJ nn~cmmlarn moanlmi nflcfuO©o Ln.Jan1nn~1aj6·" 

(a) @'D ln.Jm)anorumomios6~ m16lIB~66l5 cn.Janlcfu©6m6ll2lcro) '? 

(b) <l>OL~lmi OJjOJ<T\.l.Dl<mlmilarn moan1m>66l5 w©l2l2l61mu3 p4)6><m>~oo '? 

(m}cdb:>©m) : 2 + 2 = 4) 

9. crJ13~<T>6o crJ1312l2lC!ll6o CTU<ll'1.00B©1CDJ6o 12l0l®l2l6~ ©012l6 <T>(f)©<mID16>~ nO~oglaJB mlonom) 

m).a,l~l<l:I& 0J©6m>cID. crJ130J6)nR CTU6'1f>~<mIDOCDJ ©OG;l61 crJ13~<T>l2l2ll2lO@, 12l6mTm~CT3, 

12l6<mID'fiq1, .a.cru1CT3 ®6S6Gl31 rulrulw an~l2lJOcfuu3 63©612ll~ <0>012icrul.006on L(f)Ol2l<mm16l~ 

rui31<1:1& mlrrnom) OJ©6m>®. 

(a) C'l\8®6 anmo .&65Jo611.161IB~1~om) ©0!2l6ruJo mom60JJo <0>012icrulc00Jm>cID '? 

(b) ©0!2l60J16lnRCDJ6o ©ON60J16>nRCDlJo cfuJ5Jo611.16lIB§J6l5 cruru10<R>n31tmcfuu3 tmO©®!Zljo 

6l~cy/6.&. 

( c) ©0!2lJo.Jl6ln'A cfuJ5Jo611.lam»16lnR m1~m1elo.fl6lm ru111l©<R><T>O<lmlcful2lOCDl1 ruluocfu~<T>o 

(m}c.a.:>©m) : l + 3 + 2 = 6) 

c!b:>eJneJ§o <Y\)ru le (fl) cili (lJ)db u3 

nJo~lowo~lcmmlc& <Jl(f)OL<m cru'.Zl~c1.06lIB§66lS ~rul©@oruo 

................................. !2ll©ajCDl6~®Jo cfuffio cfu606lmID®Jl2lOW ~nJcfu©6IT>6Gl3u3 

mlowo~lcmmlc!h CTUJCTUoneis1<ml1lOW ,£b~n311 <l>icml 

................................. 6) ~mJ6)cfu0 ~ m1@12l2l1tml2l Om> ~nJcfu ©6TT>6lll3CJ3 

( cruc.a.:>©cru : l + l = 2) 

11. (a) <mo6l'9 6lcfuOS6<mm1©1cOOJm>rumi1arn m1m1 ~Bl oruBcfuo~ruJl1lOCDl1 611JmW6l'k)3 

cruo.Jlo<R>n31<manu3 6l<ID©6> immns 6 .oo 6 cfu. 

(i) ffi(f)<l> cruJ©oruo (ii) rn'5ctm1cfuu3.oo' ~on<ID nJBrul 

(iii) C'l{Bcfu6>6>BOJ rul<RHocruo (iv) ru©~ cruLffiJBOCDlo 

(b) ~Bl OOJBcfu0~6><mIDWJo nJ1©8d)6)0~ OOJBcfu0~6)((l)'IDCDl60 cruru10<R>n31<mcfuu3 

<mO<l><IDl2ljo 6l~cy/6cfu. ( m)c.a.o©m) : 1 + 2 = 3) 

12. (a) .a,l3cmm1arn 6)nJsocmm® C'l{B@cmm1 .a16l6TlScmm6.a.. 

mlc(f)la:go 

OLnJ0030 mt0rn'5L<IDCI:~om)ru) 

n.JO@crul 

12lo(f)O§OWW 

(b) m161IB§66l5 ~<mm<l>6lmrm cru11l©cmtnl.00Jcfu. 
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13. Even though there are diversities. Indian culture is Unique. 

Identify and explain the factors of unity. 

Hint : Any two factors. 

14. (a) Re-arrange the following in order: 

15. 

Grihasthasrama 

Vanaprastha 

Brahmacharya 

Sanyasa 

(b) Identify the characteristics of Brahmacharya Ashrama. 

1911 1951 1991 

~ Rural Population 

- Urban Population 

(a) Interpret the Pie-diagram and draw inferences. 

(b) Explain the factors leading to urbanization in India. 

(Scores : 2) 

(Scores : I + I = 2) 

(Scores : 2 + 3 = 5) 

16. "7 vacancies of teachers and 25658 applicants." This is a news heading in a daily. 

(a) Identify the social problem implied in the news. 

(b) Analyse the causes of this social problem. (Scores : I + 3 = 4) 

7027 8 



13. 6>6>ruru1WJ,6lffim6>611SB:h1e.qo @mnJ,<13 cruom)cfh::><l>o ®m112l<DJJ~rmom>. @mn.),<13 

· cru l2l ;i nD 6> mm> 63 cm1 ~1 .oo Jon neis cfh 6lJl3 u3 ca, 6> 6l1S mm> 1 ru1(J()B1ciliai1 d}6) J co.,. 

14. (a) ®06>Y' 6>c£hOSJmYro1a>1d}6)JCTnru6><DJ nJJffi3lcful2l1cfha>1.ooJcili : 

15. 

(/) ~ n[) CTUJJ 0 l (J() 2l 0 

( b) l 6llJ rill l2l ~ ai.), <lllM (J() l2l cru l ffi1Bo<DJmrro16> oR lnJ G: cm.), cfh ®ca, u3 nfil 6>® ~ o o ·: 

1911 1991 

~ L(l):>OJ'llilll mmmioru~ 

- ITT(f)© mm<nJo6lJ~ 

(a) 6>6>nJ M<DJl(f)o m1ai1cfhl1l~ ml(f)2lffi6lffiu3 allnJ6>~SJmm>Jc£h. 

( cruc.a.:>©cru : I + 1 = 2) 

(b) @mnJ,m>1m8 m(f)airurm.ooai6mcmm1mJ~ ca,oai6m6lJl36)~6)mn~o6>!2lcm ru1(J()B!2lo.OOJdh. 

( cruc.a.:i©m) : 2 + 3 = 5) 

16. "7 ®OW.),OnJdh 63Y'1QJJ,c£hu3, 25658 <ITT3<linJcfhl1c£h<5." 63a>J, B1m~UIDmY©16>eJ ruo©mY©<lllJ6>5 

(0) ei 6) .oo 3 o6m1 rm. 

(a) @'D ruo<8cmmm>1e.ts6m1m>1ai1.oo&on cru0!2lJnD.), LnJu5mo cili6>611SmY©J&. 

(b) @'D cruOl2lJnD.), LnJCJ5mcmm1mJ~ ca,oa>6m6lffiu3 ru1(J()c£he.tmo 6>~~Jdh. 

(cruc.a.:i©cru : t + 3 = 4) 
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17. Women are perfo1ming a lot of social as well as biological roles in the home and 

outside. But the roles in the home are largely underestimated. 

(a) Differentiate gender and sex. 

(b) Analyse the major problems faced by women in the present context. 

(Scores : 1 + 3 = 4) 

18. You are selected to deliver a speech on the Republic day of India. on "Hindrances to 

National Integration". Prepare an outline of your speech. (Any tive points) 

(Scores : 1 + 1 + 1 + I + I = 5) 

19. You are the member of a team visited in a tribal area. Write a letter to the Chief 

Minister highlighting the problems suffered by tribal people of the area. Include your 

suggestions to improve the condition oftribals in the letter. 

Hints: 

(I) Social problems 

(2) Economic problems 

(3) Educational problems and cultural problems (Scores : 2 + 2 + 2 = 6) 

20. British Education tried to spread English education to bring about a change in the 

outlook of the indigenous population. 

(a) Critically analyse the impact of British education in India. 

(b) Compare British education with that of present education system. 

(Scores : 2 + 2 = 4) 

21. Even though Government is spending Crores of Rupees for the \velfare of Scheduled 

Tribes. they are facing many problems. Sometimes. they are organized and agitated to 

press their demands. 

(a) Analyse the recent tribal movements in Kerala. 

(b) Prepare a list of welfare programmes for their upliftment. (Scores : 3 + 3 = 6) 

7027 10 



17. ru13le .. qo nJJntlllmJIZlOm.>1 <ruo1Zl2onlcfuru60 ~10J(J():JoUL®nJ<l>OJ61ZlOm> mla>ruwl cfu51Zlcfuu8 

oULtm1cfuu8 mlnG:OJ\WmJ6f8'. nmcrnom8 ru13lm8 6)!1..l~Jrrn cfuSIZlcfuu8 nJeJrnJo ("lflP..Jcfu6naj 

cfu:)6Tl)0(')6 6f8. 

(a) '6'SilCT3CUl<8', '6)CTUahoU' n4)ITT110J tmllllZlle.q~ OJj®jOCTU6l3l36)~6)<lm~Oo '? 

(b) ~WJITTlc!h dhOeJm oULtm1dhu8 (ITT(}<511Zl66lJ1cfM>l.006ITT'l LnJWOITT LnJ<J5ITT6lIB6)~ 

afl(J()dheJITTo 6'!1..l~6cfu. ( m)cdbJ©m) : I + 3 = 4) 

18. !ID<lmj@J6)5 nl~~l<lh Blmanmlm8 'G:B(J()lG:@O®L(J)lOITTo G:mmlSJITT'l LnJ®lffilmW6mu8' o(j)ITT'l 

OJ1n'l1@tlllmlm8 m16mG:~OS Ln.JCTUo(J)1.000ITTOOJ(J()j6)~36 o(i)ITT16 dh©J®Jdh. m16l3B~J6)5 

LnJCTUo(J)tlllm16'ofl 63©;! !1..lJCllJ.OOo rn~onoc00;i.a,. (n436'®1B:ile.i;io 5 G:nJO©!lofl;ic6>u8). 

( m)cdbJ©m) : I + I + I + I + I = 5) 

19. 63<l>J ~Blruo<rul G:IZl6lJeJ <rumrn(J()l~ s1:2llm8 m161l13u8 (ITT(}o(J)IZl:J©!lmJrrnJ o(i)ITT'lJ 

cfu<l>6®6dh. ~ LnJG:B(J()6'tlllm ~Blruo<ruldh~J6'5 tnJu5m6m~Jo ml()OJW.OOJ~ 

nJ©lonom!im~Jo ml©G:!J(R)lij IZlJ61JjlZll<lm16'.000<l>6 .a,mm} cm~onOd36>Jcfu. 

(J\)l.2.JITTdbOO : 

( l) CTUOIZllo.Oj LnJ<J5mGmu8 

( 2) CTUOffiltlllmldh LnJ CJ5m6mu8 

( 3) CTUOooUdhO<l>ldh Ln.Ju5m6mu8 (m)cdbJ©m) : 2 + 2 + 2 = 6) 

20. ®G:IJ(Jl)1©J<l>J6'5 dhOYJ !1..l~OS IZlO\:;>Jcfu o(j)ITT'l ~G:IJ<f1lG:tlllm:J6)5mJ06TT) lffill31n'l16dh0<8 

!ID<lmj@lm8 !IDo~1~ rulBjO<SjOCTUo ms~leJO.OOl@cm. 

(a) mmnjm.>1m8 Lffi.1131~ ru1BjO<Sj::><ruanm16'of! ffi.)Jow1mo rullZlrn(J()m:J((fQ)cfuillOm.>1 

rul<J1ldheJITTo 6'!1..l~J<fh. 

(b) Lffi.1131~ ru1BjO©j:Jffi.)6)©lm mle.irulS)eJ nilBjO©j:Jffi.) a>1cmlm>J:llO©!l cmomtmilljo 

6'!1..l~Jc:O>. ( m)cdbJ©m) : 2 + 2 = 4) 

21. nJ31dhru<8<&61IB~J6'S G:dh9:11Zlanmlmom.>1 ffi.)(8.000<8 a.a,oslo:nu8 6)!1..leJru\91.00J-

ITT'lJ6'6TlS!B:i leJJo (ITT(}OJ<8 !IDGi~O\PJo mlmruwl LnJ<J5m61IBu8 (ITT(}r511ZlJ6lJ1dhml.ooJ<mJ. 

(ITT(}GJ<l>J6)5 ~QJ(J()j6mu8 mlnarumcrncmlmom.>1 nJeJG:c;HO\PJo ml()GJ<8 <ruoneisl.OOJdhm>Jo 

ffi.)IZl<l>o 6'!1..l~Jdhm>Jo 6)!1..l~JITT'lJ. 

(a) ml()SJtlllm dhoe.icmm G:,o,m~anmlm8 mscrn ~Blruo<rul IZlJG:ITT1)?6m6)~ rul<f1lcfueJmo 

6)!1..l~Jdh. 

(b) ~B1QJ:J<T\.)1dh~J6)5 G:dh9:11Zltlllmlmo@1 ITTSc;HleJo.ool@ nJCID@1dh~J6)5 63©J nJ3l.a, 

cm~ono.OOJtfu. ( m)cdbJ©m) : 3 + 3 = 6) 
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